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Tekst 3 Vacant chairs

5 Which of the following fits the gap in the text?
A gains some strength through
B is inadequately illustrated by
C is totally undermined by

Tekst 4 Triller Fight Club

6 How can the writer’s attitude towards the Triller Fight Club matches best
be characterised, judging from paragraphs 1-27?
A as admiring
B as critical
C as curious
D as matter-of-fact

7  What is the point made about Ben Askren in paragraph 37
A He is a weaker fighter than people might have expected.
B He makes clever use of his connections in the world of boxing.
C His financial situation led him to participate in the competition.
D His reputation made sure the event drew a large audience.

8 How are Triller Fight Club and buying followers on Instagram alike,
according to paragraph 47?
A They are both based on inefficient business models.
B They are both frowned upon by social media experts.
C They both exploit audiences that are easily impressed.
D They can both be a shortcut to fame and fortune.

9  Which of the following fits the gap in paragraph 5?
A be in charge of the promotion
B deny any involvement
C get even with opponents
D participate in the show
E train for the competition
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